

Contract #	5398097
Schedule Dates	10/24/22-10/30/22
Advertiser	Club For Growth (3622)
Agency	Armada Strategies (20481)
Product	POLITICAL ISSUE (ns) (1187)
Brand	324/512/4858 (1783299)
Salesperson	TeleRep/DC, Washington DC (2995)

Schedule Dates	10/24/22-10/30/22	Last Modified	10/25/22
Advertiser	Club For Growth (3622)	Entered By	Shannon Eaker
Agency	Armada Strategies (20481)	CO-OP	No
Product	POLITICAL ISSUE (ns) (1187)	External #	10464751
Brand	324/512/4858 (1783299)	Demo	A35+R
Salesperson	TeleRep/DC, Washington DC (2995)	Order Type	Normal
Sales Office	TeleRep Washington DC	Package Deal	
Buyer Name	BLUE,SARAH	Commission %	15.00
Phone/Fax	/	Commission	\$21,431.25
CPE	324/512/4858	Net Total	\$121,443.75
Account Types	National/Political Issue Agency BRD	Sales Tax	
Billing Type	Weekly/Irregular		
Comments	CLUB FOR GROWTH ACT ***** THIS IS A CASH IN ADVANCE SCHEDULE *****,		

Date Entered

09/21/22

Salt Lake City (KUTV)		
By Broadcast Month	Spots .	<u>Rate</u>
Oct. 2022	177	\$142,875.00
Grand Total:	177	\$142,875.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr Sa	Su	Spots	Rate	Total	Station	Comments	Entered
1.0	Normal Line / News (1)	10/24/22-10/24/22	1	:30	5A- 5:30A (MST)		1						1	\$350.00	\$350.00	Salt Lake City (KUTV)	2 NEWS AT 5A	9/21/22
2.0	Normal Line / News (6)	10/24/22-10/24/22	1	:30	5:30A- 6A (MST)		1						1	\$400.00	\$400.00	Salt Lake City (KUTV)	2 NEWS AT 530A	9/21/22
3.0	Normal Line / News (21)	10/24/22-10/24/22	1	:30	6A- 7A (MST)		2						2	\$600.00	\$1,200.00	Salt Lake City (KUTV)	2 NEWS THIS MORNING	9/21/22
4.0	Normal Line / News (25)	10/24/22-10/24/22	1	:30	4:30A- 4:59A (MST)		5			- 1		-	4	\$125.00	\$500.00	Salt Lake City (KUTV)	2 NEWS AT 430A	9/21/22
4.0.1	Closed Preempt (25)	10/24/22														Salt Lake City (KUTV)	Advertiser Separation/Spot - Already a spot in every break	
5.0	Normal Line / News (42)	10/24/22-10/24/22	1	:30	7A- 9A (MST)		4			- 1		1	4	\$350.00	\$1,400.00	Salt Lake City (KUTV)	CBS THIS MORNING	9/21/22
6.0	Normal Line / SPOT (47)	10/24/22-10/24/22	1	:30	9A- 10A (MST)		1						1	\$1,200.00	\$1,200.00	Salt Lake City (KUTV)	LETS MAKE A DEAL	9/21/22
7.0	Normal Line / SPOT (52)	10/24/22-10/24/22	1	:30	11A- 12P (MST)		1						1	\$1,200.00	\$1,200.00	Salt Lake City (KUTV)	PRICE IS RIGHT	9/21/22
8.0	Normal Line / News (57)	10/24/22-10/24/22	1	:30	12P- 1P (MST)		2						2	\$400.00	\$800.00	Salt Lake City (KUTV)	2 NEWS AT NOON	9/21/22
9.0	Normal Line / SPOT (62)	10/24/22-10/24/22	1	:30	1P- 1:30P (MST)		1			- 1		-	1	\$250.00	\$250.00	Salt Lake City (KUTV)	FRESH LIVING	9/21/22
10.0	Normal Line / SPOT (67)	10/24/22-10/24/22	1	:30	2P- 3P (MST)		1						1	\$300.00	\$300.00	Salt Lake City (KUTV)	THE TALK	9/21/22
11.0	Normal Line / SPOT (72)	10/24/22-10/24/22	1	:30	3P- 4P (MST)		2						2	\$250.00	\$500.00	Salt Lake City (KUTV)	FAMILY FEUD	9/21/22

		CONFIRMATION CONTRACT		
Accepted-Agency/Advertiser:	Date:	Accepted-Station:	Date:	Comments:



Contract # 5398097 Schedule Dates 10/24/22-10/30/22 Advertiser Club For Growth (3622) Agency Armada Strategies (20481) POLITICAL ISSUE (ns) (1187) Brand 324/512/4858 (1783299) TeleRep/DC, Washington DC (2995) TeleRep Washington DC

Date Entered 09/21/22 **Last Modified** 10/25/22 Entered By Shannon Eaker No CO-OP 10464751 External # Demo A35+R

Normal

15.00

\$21,431.25

\$121,443.75

Order Type

Package Deal

Commission %

Commission

Salt Lake City (KUTV) By Broadcast Month Spots Rate Oct. 2022 177 \$142,875.00 Grand Total: 177 \$142,875.00

Salesperson Sales Office **Buyer Name** BLUE, SARAH Phone/Fax CPE 324/512/4858 Account Types National/Political Issue Agency BRD

Net Total Sales Tax

Billing Type Weekly/Irregular CLUB FOR GROWTH ACT

***** THIS IS A CASH IN ADVANCE SCHEDULE *****,

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Tim	es :	SPW M	Mo 1	Tu V	Ne TI	h Fr	Sa	Su	Spots	Rate	Total	Station	Comments	Entered
12.0	Normal Line / News (77)	10/24/22-10/24/22	1	:30	0 4P- 4:30P (MST)		1	1	- 1		-	1 1		1	\$350.00	\$350.0	Salt Lake City (KUTV)	2 NEWS AT 4P	9/21/22
13.0	Normal Line / News (82)	10/24/22-10/24/22	1	:30	0 4:30P- 5P (MST)		1			i		1 1		1	\$500.00	\$500.0	Salt Lake City (KUTV)	2 NEWS AT 430P	9/21/22
14.0	Normal Line / News (87)	10/24/22-10/24/22	1	:30	0 5P- 5:30P (MST)		1	1	i	i		1 1		1	\$900.00	\$900.0	Salt Lake City (KUTV)	2 NEWS AT 5P	9/21/22
15.0	Normal Line / News (92)	10/24/22-10/24/22	1	:30	0 6P- 6:30P (MST)		1	1				1 1		1	\$1,200.00	\$1,200.0	Salt Lake City (KUTV)	2 NEWS AT 6P	9/21/22
16.0	Normal Line / News (2)	10/25/22-10/25/22	1	:30	0 5A- 5:30A (MST)				1			1 1		1	\$350.00	\$350.0	Salt Lake City (KUTV)	2 NEWS AT 5A	9/21/22
17.0	Normal Line / News (7)	10/25/22-10/25/22	1	:30	5:30A- 6A (MST)				1	1		1 1		1	\$400.00	\$400.0	Salt Lake City (KUTV)	2 NEWS AT 530A	9/21/22
18.0	Normal Line / News (32)	10/25/22-10/25/22	1	:30	6A- 7A (MST)				2			1 1		2	\$600.00	\$1,200.0	Salt Lake City (KUTV)	2 NEWS THIS MORNING	9/21/22
19.0	Normal Line / News (43)	10/25/22-10/25/22	1	:30	0 7A- 9A (MST)				4	i		1 1		4	\$350.00	\$1,400.0	Salt Lake City (KUTV)	CBS THIS MORNING	9/21/22
20.0	Normal Line / SPOT (48)	10/25/22-10/25/22	1	:30	9A- 10A (MST)				1			1 1			\$1,200.00		Salt Lake City (KUTV)	LETS MAKE A DEAL	9/21/22
20.0.1	Closed Preempt (48)	10/25/22															Salt Lake City (KUTV)	Preempt/Spot - Per Shannon	
21.0	Normal Line / SPOT (53)	10/25/22-10/25/22	1	:30	0 11A- 12P (MST)				1	i		1 1		1	\$1,200.00	\$1,200.0	Salt Lake City (KUTV)	PRICE IS RIGHT	9/21/22
22.0	Normal Line / News (58)	10/25/22-10/25/22	1	:30	0 12P- 1P (MST)				2			1 1		2	\$400.00	\$800.0	Salt Lake City (KUTV)	2 NEWS AT NOON	9/21/22
23.0	Normal Line / SPOT (63)	10/25/22-10/25/22	1	:30	1P- 1:30P (MST)				1			1 1		1	\$250.00	\$250.0	Salt Lake City (KUTV)	FRESH LIVING	9/21/22
					1	CON	FIR	MA	TI	NC	CC	TNC	RA	СТ					_
Accepted-A	gency/Advertiser:			Date:	А	ccepted-Station	1:								Date:	Comments:			



41	11	

CPE

Contract # 5398097 Schedule Dates 10/24/22-10/30/22 Advertiser Club For Growth (3622) Agency Armada Strategies (20481) POLITICAL ISSUE (ns) (1187) Product Brand 324/512/4858 (1783299) Salesperson TeleRep/DC, Washington DC (2995) Sales Office TeleRep Washington DC **Buyer Name** BLUE, SARAH

Phone/Fax

Account Types National/Political Issue Agency BRD Billing Type Weekly/Irregular

CLUB FOR GROWTH ACT

324/512/4858

***** THIS IS A CASH IN ADVANCE SCHEDULE *****,

Date Entered 09/21/22 Last Modified 10/25/22

Entered By Shannon Eaker No

CO-OP 10464751 External # Demo

A35+R Order Type Normal

Package Deal

Commission % 15.00

\$21,431.25 Net Total \$121,443.75

Date:

Comments:

Sales Tax

Commission

Salt Lake City (KUTV) By Broadcast Month Spots Rate Oct. 2022 177 \$142,875.00 Grand Total: 177 \$142,875.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	ı V	Ve Th	ı Fı	r Sa	Su	Spots	Rate	Total	Station	Comments	Entered
24.0	Normal Line / SPOT (68)	10/25/22-10/25/22	1	:3	0 2P- 3P (MST)			1					1	1	\$300.00	\$300.00	Salt Lake City (KUTV)	THE TALK	9/21/22
25.0	Normal Line / SPOT (73)	10/25/22-10/25/22	1	:3	0 3P- 4P (MST)			2	1			-	1	2	\$250.00	\$500.00	Salt Lake City (KUTV)	FAMILY FEUD	9/21/22
26.0	Normal Line / News (78)	10/25/22-10/25/22	1	:3	0 4P- 4:30P (MST)			1	i	i		i	i	1	\$350.00	\$350.00	Salt Lake City (KUTV)	2 NEWS AT 4P	9/21/22
27.0	Normal Line / News (83)	10/25/22-10/25/22	1	:3	0 4:30P- 5P (MST)			1		i		i	i	1	\$500.00	\$500.00	Salt Lake City (KUTV)	2 NEWS AT 430P	9/21/22
28.0	Normal Line / News (88)	10/25/22-10/25/22	1	:3	0 5P- 5:30P (MST)			1				-	1	1	\$900.00	\$900.00	Salt Lake City (KUTV)	2 NEWS AT 5P	9/21/22
29.0	Normal Line / News (93)	10/25/22-10/25/22	1	:3	0 6P- 6:30P (MST)			1	i	1		i	1	1	\$1,200.00	\$1,200.00	Salt Lake City (KUTV)	2 NEWS AT 6P	9/21/22
30.0	Normal Line / News (3)	10/26/22-10/26/22	1	:3	0 5A- 5:30A (MST)				1	1		i	i	1	\$350.00	\$350.00	Salt Lake City (KUTV)	2 NEWS AT 5A	9/21/22
31.0	Normal Line / News (8)	10/26/22-10/26/22	1	:3	0 5:30A- 6A (MST)			1		1		i	1	1	\$400.00	\$400.00	Salt Lake City (KUTV)	2 NEWS AT 530A	9/21/22
32.0	Normal Line / News (39)	10/26/22-10/26/22	1	:3	0 6A- 7A (MST)			1		2		-	1	2	\$600.00	\$1,200.00	Salt Lake City (KUTV)	2 NEWS THIS MORNING	9/21/22
33.0	Normal Line / News (44)	10/26/22-10/26/22	1	:3	0 7A- 9A (MST)			1	١.	4		i	1	4	\$350.00	\$1,400.00	Salt Lake City (KUTV)	CBS THIS MORNING	9/21/22
34.0	Normal Line / SPOT (49)	10/26/22-10/26/22	1	:3	0 9A- 10A (MST)			1	i.	1		i	i i		\$1,200.00		Salt Lake City (KUTV)	LETS MAKE A DEAL	9/21/22
34.0.1	Closed Preempt (49)	10/26/22						1	-				1				Salt Lake City (KUTV)	Preempt/Spot - Per Shannon	
35.0	Normal Line / SPOT (54)	10/26/22-10/26/22	1	:3	0 11A- 12P (MST)			1	1	1			1	1	\$1,200.00	\$1,200.00	Salt Lake City (KUTV)	PRICE IS RIGHT	9/21/22
			<u> </u>		CON	۱F۱	RN	/IA	ГΙ	NC	C	NC	TR/	\CT			<u> </u>		

The parties intend for the Standard Advertiser Terms and Conditions ("Terms") located at... http://sbgi.net/?p=1224 ... to be part of their agreement, and the sale of advertising is expressly subject to said Terms.

Accepted-Station:

Date:



111

Contract # 5398097 Schedule Dates 10/24/22-10/30/22 Advertiser Club For Growth (3622) Agency Armada Strategies (20481) POLITICAL ISSUE (ns) (1187) Product Brand 324/512/4858 (1783299) Salesperson TeleRep/DC, Washington DC (2995) Sales Office TeleRep Washington DC

 Brand
 324/512/4858 (1783299)

 Salesperson
 TeleRep/DC, Washington DC (2995)

 Sales Office
 TeleRep Washington DC

 Buyer Name
 BLUE,SARAH

 Phone/Fax
 /

 CPE
 324/512/4858

 Account Types
 National/Political Issue Agency BRD

Billing Type Weekly/Irregular

Comments CLUB FOR GROWTH ACT

***** THIS IS A CASH IN ADVANCE SCHEDULE *****,

Date Entered 09/21/22
Last Modified 10/25/22
Entered By Shannon Eaker
CO-OP No

External # 10464751

Demo A35+R

Order Type Normal
Package Deal

 Commission
 \$21,431.25

 Net Total
 \$121,443.75

15.00

Sales Tax

Commission %

| Salt Lake City (KUTV)
By Broadcast Month	Spots	Rate
Oct. 2022	177	\$142,875.00
Grand Total:	177	\$142,875.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa Su	Spots	Rate	Total	Station	Comments	Entered
36.0	Normal Line / News (59)	10/26/22-10/26/22	1	:30	12P- 1P (MST)				2			i		2 \$400.00	\$800.00	Salt Lake City (KUTV)	2 NEWS AT NOON	9/21/22
37.0	Normal Line / SPOT (64)	10/26/22-10/26/22	1	:30	1P- 1:30P (MST)				1	Ì		-		1 \$250.00	\$250.00	Salt Lake City (KUTV)	FRESH LIVING	9/21/22
38.0	Normal Line / SPOT (69)	10/26/22-10/26/22	1	:30	2P- 3P (MST)				1	i		į		\$300.00	0	Salt Lake City (KUTV)	THE TALK	9/21/22
38.0.1	Closed Preempt (69)	10/26/22							1	1						Salt Lake City (KUTV)	Preempt/Spot - Per Shannon	
39.0	Normal Line / SPOT (74)	10/26/22-10/26/22	1	:30	3P- 4P (MST)				2	1				2 \$250.00	\$500.00	Salt Lake City (KUTV)	FAMILY FEUD	9/21/22
40.0	Normal Line / News (79)	10/26/22-10/26/22	1	:30	4P- 4:30P (MST)				1	i		į		1 \$350.00	\$350.00	Salt Lake City (KUTV)	2 NEWS AT 4P	9/21/22
41.0	Normal Line / News (84)	10/26/22-10/26/22	1	:30	4:30P- 5P (MST)				1					1 \$500.00	\$500.00	Salt Lake City (KUTV)	2 NEWS AT 430P	9/21/22
42.0	Normal Line / News (89)	10/26/22-10/26/22	1	:30	5P- 5:30P (MST)				1					1 \$900.00	\$900.00	Salt Lake City (KUTV)	2 NEWS AT 5P	9/21/22
43.0	Normal Line / News (4)	10/27/22-10/27/22	1	:30	5A- 5:30A (MST)					1				1 \$350.00	\$350.00	Salt Lake City (KUTV)	2 NEWS AT 5A	9/21/22
44.0	Normal Line / News (9)	10/27/22-10/27/22	1	:30	5:30A- 6A (MST)				i	1		į		1 \$400.00	\$400.00	Salt Lake City (KUTV)	2 NEWS AT 530A	9/21/22
45.0	Normal Line / News (40)	10/27/22-10/27/22	1	:30	6A- 7A (MST)					2				2 \$600.00	\$1,200.00	Salt Lake City (KUTV)	2 NEWS THIS MORNING	9/21/22
46.0	Normal Line / News (45)	10/27/22-10/27/22	1	:30	7A- 9A (MST)					4		i		4 \$350.00	\$1,400.00	Salt Lake City (KUTV)	CBS THIS MORNING	9/21/22
47.0	Normal Line / SPOT (50)	10/27/22-10/27/22	1	:30	9A- 10A (MST)					1		i		\$1,200.00	0	Salt Lake City (KUTV)	LETS MAKE A DEAL	9/21/22

CONIE	TANADI		CONTRA	CT
CONE	IKIVIAI	ION	CONTRA	C I

Accepted-Agency/Advertiser: Date: Accepted-Station: Date: Comments:



Contract # Schedule Dates Advertiser Agency Product Brand Salesperson

Phone/Fax

5398097 10/24/22-10/30/22

Club For Growth (3622)

Armada Strategies (20481) POLITICAL ISSUE (ns) (1187)

324/512/4858 (1783299)

TeleRep/DC, Washington DC (2995)

Sales Office TeleRep Washington DC **Buyer Name** BLUE, SARAH

CPE 324/512/4858

Account Types National/Political Issue Agency BRD

Billing Type Weekly/Irregular CLUB FOR GROWTH ACT

***** THIS IS A CASH IN ADVANCE SCHEDULE *****,

Date Entered 09/21/22 Last Modified 10/25/22

Shannon Eaker

No CO-OP 10464751 External # Demo A35+R

Order Type Normal

Package Deal Commission % 15.00

Commission \$21,431.25 Net Total \$121,443.75

Sales Tax

Entered By

Salt Lake City (KUTV)		
By Broadcast Month	Spots	<u>Rate</u>
Oct. 2022	177	\$142,875.00
Grand Total:	177	\$142,875.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa S	u Sp	ots	Rate	Total	Station	Comments	Entered
47.0.1	Closed Preempt (50)	10/27/22															Salt Lake City (KUTV)	No Availability/Spot - Per Shannon	
48.0	Normal Line / SPOT (55)	10/27/22-10/27/22	1	:30	11A- 12P (MST)				1	1				1	\$1,200.00	\$1,200.00	Salt Lake City (KUTV)	PRICE IS RIGHT	9/21/22
49.0	Normal Line / News (60)	10/27/22-10/27/22	1	:30	12P- 1P (MST)					2				2	\$400.00	\$800.00	Salt Lake City (KUTV)	2 NEWS AT NOON	9/21/22
50.0	Normal Line / SPOT (65)	10/27/22-10/27/22	1	:30	1P- 1:30P (MST)					1		i		1	\$250.00	\$250.00	Salt Lake City (KUTV)	FRESH LIVING	9/21/22
51.0	Normal Line / SPOT (70)	10/27/22-10/27/22	1	:30	2P- 3P (MST)					1		i			\$300.00		Salt Lake City (KUTV)	THE TALK	9/21/22
51.0.1	Closed Preempt (70)	10/27/22							1								Salt Lake City (KUTV)	Preempt/Spot - Per Shannon	
52.0	Normal Line / SPOT (75)	10/27/22-10/27/22	1	:30	3P- 4P (MST)					2		i		2	\$250.00	\$500.00	Salt Lake City (KUTV)	FAMILY FEUD	9/21/22
53.0	Normal Line / News (80)	10/27/22-10/27/22	1	:30	4P- 4:30P (MST)					1		i		1	\$350.00	\$350.00	Salt Lake City (KUTV)	2 NEWS AT 4P	9/21/22
54.0	Normal Line / News (85)	10/27/22-10/27/22	1	:30	4:30P- 5P (MST)				į.	1		i		1	\$500.00	\$500.00	Salt Lake City (KUTV)	2 NEWS AT 430P	9/21/22
55.0	Normal Line / News (90)	10/27/22-10/27/22	1	:30	5P- 5:30P (MST)					1		i		1	\$900.00	\$900.00	Salt Lake City (KUTV)	2 NEWS AT 5P	9/21/22
56.0	Normal Line / News (5)	10/28/22-10/28/22	1	:30	5A- 5:30A (MST)						1	i		1	\$350.00	\$350.00	Salt Lake City (KUTV)	2 NEWS AT 5A	9/21/22
57.0	Normal Line / News (10)	10/28/22-10/28/22	1	:30	5:30A- 6A (MST)				1		1	i		1	\$400.00	\$400.00	Salt Lake City (KUTV)	2 NEWS AT 530A	9/21/22
									i.			1							
		1			COI	NFI	RM	ΑT	IO	N (CO	NTF	RAC	T				1	II .

Date: Accepted-Station: Date: Accepted-Agency/Advertiser:

Comments:



Agency

Product

Brand

Contract # 5398097 Schedule Dates 10/24/22-10/30/22 Advertiser Club For Growth (3622)

Armada Strategies (20481) POLITICAL ISSUE (ns) (1187)

324/512/4858 (1783299) TeleRep/DC, Washington DC (2995)

Salesperson Sales Office TeleRep Washington DC

Buyer Name BLUE, SARAH Phone/Fax

CPE 324/512/4858 Account Types National/Political Issue Agency BRD

Billing Type Weekly/Irregular CLUB FOR GROWTH ACT

***** THIS IS A CASH IN ADVANCE SCHEDULE *****,

Date Entered 09/21/22 **Last Modified** 10/25/22

Entered By Shannon Eaker No CO-OP

Normal

10464751 External # Demo A35+R

Package Deal

Order Type

Commission % 15.00

\$21,431.25 Net Total \$121,443.75

Date:

Comments:

Sales Tax

Commission

Salt Lake City (KUTV)		
By Broadcast Month	<u>Spots</u>	<u>Rate</u>
Oct. 2022	177	\$142,875.00
Grand Total:	177	\$142,875.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We Th	Fr Sa	Su	Spots	Rate	Total	Station	Comments	Entere
58.0	Normal Line / Prime (11)	10/28/22-10/28/22	1	:30	6:57:26P- CBS-SWAT (Friday)		1			* , ,		1	\$1,600.00	\$1,600.00	Salt Lake City (KUTV)	SWAT	9/21/22
59.0	Normal Line / Prime (12)	10/28/22-10/28/22	1	:30	7:59P- CBS-Fire Country (Friday)					1		1	\$1,600.00	\$1,600.00	Salt Lake City (KUTV)	FIRE COUNTRY	9/21/22
60.0	Normal Line / Prime (13)	10/28/22-10/28/22	1	:30	9P- CBS-Blue Bloods (Friday)					1		1	\$2,000.00	\$2,000.00	Salt Lake City (KUTV)	BLUE BLOODS	9/21/22
61.0	Normal Line / News (14)	10/29/22-10/29/22	1	:30	7A- 8A (MST)					2		2	\$300.00	\$600.00	Salt Lake City (KUTV)	2NEWS AT 7A	9/21/22
62.0	Normal Line / Football (15)	10/29/22-10/29/22	1	:30	1:30P- Sports-CBS College Football Late					2		2	\$1,200.00	\$2,400.00	Salt Lake City (KUTV)	SEC GAME OF THE WEEK TBA AT TBA	9/21/22
63.0	Normal Line / Football (16)	10/29/22-10/29/22	1	:30	1:30P- Sports-CBS College Football Late					1			\$1,200.00		Salt Lake City (KUTV)	SEC FTBL GA-FLA GEORGIA AT FLORIDA	9/21/22
63.0.1	Closed Preempt (16)	10/29/22													Salt Lake City (KUTV)	Preempt/Spot - Per Shannon	
64.0	Normal Line / News (17)	10/29/22-10/29/22	1	:30	5P- 6P (MST)					3		2	\$500.00	\$1,000.00	Salt Lake City (KUTV)	2 NEWS AT 5P	9/21/22
64.0.1	Closed Preempt (17)	10/29/22													Salt Lake City (KUTV)	Live Program Overrun/Spot - CBS Football ended late.	
65.0	Normal Line / Football (18)	10/29/22-10/29/22	1	:30	6P- Sports-CBS College Football Prime					2			\$2,000.00		Salt Lake City (KUTV)	SEC GAME OF THE WEEK TBA AT TBA	9/21/22

The parties intend for the Standard Advertiser Terms and Conditions ("Terms") located at http://sbgi.net/?p=	=1224 to be part of their agreement, and the sale of advertising is expressly subject to said Terms.	

Accepted-Station:

Date:



11		

Brand

Salesperson

Sales Office

Contract # 5398097 Schedule Dates 10/24/22-10/30/22 Advertiser Club For Growth (3622) Agency

Armada Strategies (20481) POLITICAL ISSUE (ns) (1187) 324/512/4858 (1783299)

TeleRep/DC, Washington DC (2995) TeleRep Washington DC

Buyer Name BLUE, SARAH Phone/Fax CPE 324/512/4858

Account Types National/Political Issue Agency BRD

Billing Type Weekly/Irregular CLUB FOR GROWTH ACT

***** THIS IS A CASH IN ADVANCE SCHEDULE *****,

Date Entered 09/21/22 **Last Modified** 10/25/22

Normal

\$21,431.25

Entered By Shannon Eaker No

10464751 External # Demo A35+R

Package Deal

Order Type

CO-OP

Commission % 15.00

Net Total \$121,443.75

Sales Tax

Commission

Salt Lake City (KUTV)		
By Broadcast Month	<u>Spots</u>	<u>Rate</u>
Oct. 2022	177	\$142,875.00
Grand Total:	177	\$142,875.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run	Times	SPW	Мо	Tu	We T	h Fr	Sa S	Su S	Spots	Rate		Total	Station	Comments	Entered
65.0.1	Closed Preempt (18)	10/29/22						1										Salt Lake City (KUTV)	Preempt/Exception - CBS Prime FB not scheduled 10/29	
65.0.2	Closed Preempt (18)	10/29/22																Salt Lake City (KUTV)	Preempt/Exception - CBS Prime FB not scheduled 10/29	
66.0	Normal Line / Prime (19)	10/29/22-10/29/22	1	:30	7P- CBS-CBS Sat Encore (Saturday							1			\$600.00			Salt Lake City (KUTV)	CBS SATURDAY ENCORE	9/21/22
66.0.1	Closed Preempt (19)	10/29/22																Salt Lake City (KUTV)	Program Change/Exception - CBS NWSL6p-830p	
67.0	Normal Line / Prime (20)	10/29/22-10/29/22	1	:30	8P- CBS-CBS Sat Encore 2 (Saturd			1		į		1			\$600.00			Salt Lake City (KUTV)	CBS SATURDAY ENCORE	9/21/22
67.0.1	Closed Preempt (20)	10/29/22						1										Salt Lake City (KUTV)	Program Change/Exception - CBS NWSL/Young Sheldon 6p-9p	
68.0	Normal Line / Prime (22)	10/29/22-10/29/22	1	:30	9P- CBS-48 Hour (Saturday)	rs						1			\$1,000.00			Salt Lake City (KUTV)	48 HOURS	9/21/22
68.0.1	Closed Preempt (22)	10/29/22																Salt Lake City (KUTV)	Program Change/Exception - ET 9p-10p	
				1		CON	VFI	RM	ATI	ON	СО	NTF	RA(СТ		<u> </u>				Ш
Accepted-A	gency/Advertiser:			Date:		Accepted-Statio	on:								Date:		Comments:			



111		

Phone/Fax

Account Types

Billing Type

CPE

Contract # 5398097 Schedule Dates 10/24/22-10/30/22 Advertiser Club For Growth (3622) Agency Armada Strategies (20481) POLITICAL ISSUE (ns) (1187) Product Brand 324/512/4858 (1783299) Salesperson TeleRep/DC, Washington DC (2995) Sales Office TeleRep Washington DC **Buyer Name** BLUE, SARAH

324/512/4858

Weekly/Irregular
CLUB FOR GROWTH ACT

National/Political Issue Agency BRD

***** THIS IS A CASH IN ADVANCE SCHEDULE *****,

Date Entered 09/21/22 Last Modified 10/25/22 Entered By Shannon Eaker No CO-OP 10464751 External # Demo A35+R Order Type Normal Package Deal Commission % 15.00 Commission \$21,431.25 Net Total \$121,443.75

Sales Tax

 Salt Lake City (KUTV)

 By Broadcast Month
 Spots
 Rate

 Oct. 2022
 177
 \$142,875.00

 Grand Total:
 177
 \$142,875.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SP\	V Mo	Tu	We	Th F	r Sa	Su	Spots	Rate	Total	Station	Comments	Entered
69.0	Normal Line / News (23)	10/29/22-10/29/22	1	:30	10P- 10:35P (MST)						1		1	\$1,300.00	\$1,300.00	Salt Lake City (KUTV)	KUTV NEWS AT 10P SAT	9/21/22
70.0	Normal Line / Sports/Other (24)	10/29/22-10/29/22	1	:30	10:35P- 11:05P (MST)					i	1		1	\$400.00	\$400.00	Salt Lake City (KUTV)	TALKIN SPORTS	9/21/22
71.0	Normal Line / News (26)	10/30/22-10/30/22	1	:30	7A- 8A (MST)							3	3	\$300.00	\$900.00	Salt Lake City (KUTV)	2NEWS AT 7A	9/21/22
72.0	Normal Line / News (27)	10/30/22-10/30/22	1	:30	8A- 9:30A (MST)							3	3	\$1,200.00	\$3,600.00	Salt Lake City (KUTV)	CBS SUNDAY MORNING	9/21/22
73.0	Normal Line / SPOT (28)	10/30/22-10/30/22	1	:30	10A- Sports-CBS PBR Special							2		\$250.00		Salt Lake City (KUTV)	PBR: BULL RIDING 3Q/4Q	9/21/22
73.0.1	Closed Preempt (28)	10/30/22										1				Salt Lake City (KUTV)	Preempt/Exception - PBR airs 3p-4p	
73.0.2	Closed Preempt (28)	10/30/22														Salt Lake City (KUTV)	Preempt/Exception - PBR airs 3p-4p	
74.0	Normal Line / Football (29)	10/30/22-10/30/22	1	:30	10:57:26A- Sports-CBS NFL Early Game							2		\$6,000.00		Salt Lake City (KUTV)	NFL EARLY ROTATION	9/21/22
74.0.1	Closed Preempt (29)	10/30/22							<u> </u>	i						Salt Lake City (KUTV)	Preempt/Spot -	
74.0.2	Closed Preempt (29)	10/30/22							<u> </u>	i	1					Salt Lake City (KUTV)	Preempt/Spot -	
75.0	Normal Line / Football (30)	10/30/22-10/30/22	1	:30	1:58P- Sports-CBS NFL Late Game							1		\$7,500.00		Salt Lake City (KUTV)	NFL LATE ROTATION	9/21/22
					С	ONF	IRM	ΑT	ION	1 C	NC	R/	ACT					
neonted /	Agency/Advertiser:			Date:	Accepted-	Ctations								Date:	Comments:			



Brand

Contract # 5398097 Schedule Dates 10/24/22-10/30/22 Advertiser Club For Growth (3622) Agency

Armada Strategies (20481) POLITICAL ISSUE (ns) (1187) 324/512/4858 (1783299)

Salesperson TeleRep/DC, Washington DC (2995) Sales Office TeleRep Washington DC

Buyer Name BLUE, SARAH Phone/Fax

CPE 324/512/4858

Account Types

Billing Type Weekly/Irregular CLUB FOR GROWTH ACT

***** THIS IS A CASH IN ADVANCE SCHEDULE *****,

National/Political Issue Agency BRD

Date Entered 09/21/22 **Last Modified** 10/25/22

Entered By Shannon Eaker No

10464751 External # Demo A35+R Order Type Normal

Package Deal

CO-OP

Commission % 15.00

\$21,431.25 Net Total \$121,443.75

Sales Tax

Commission

Salt Lake City (KUTV) By Broadcast Month Spots Rate Oct. 2022 177 \$142,875.00 Grand Total: 177 \$142,875.00

/30/22	1 1		P- 6P (MST)				-					Salt Lake City (KUTV)	Preempt/Exception - Early	
	1		P- 6P (MST)		1 1							Suit Earle Sity (NOTV)	NFL game only 10/30	
/30/22	1	:30 6			<u>i i</u>	- 1		3	3	\$1,000.00	\$3,000.00	Salt Lake City (KUTV)	2 NEWS AT 5P	9/21/22
		E	:59:30P- CBS-The qualizer (Sunday)					1		\$2,500.00		Salt Lake City (KUTV)	THE EQUALIZER	9/21/22
												Salt Lake City (KUTV)	Program Change/Exception - East New York	
/30/22	1		P- CBS-East New York Sunday)					1		\$2,500.00		Salt Lake City (KUTV)	EAST NEW YORK	9/21/22
												Salt Lake City (KUTV)	Program Change/Exception - NCIS: Los Angeles	
/28/22	1	:30 6	A- 7A (MST)				2		2	\$600.00	\$1,200.00	Salt Lake City (KUTV)	2 NEWS THIS MORNING	9/21/2
/28/22	1	:30 7	'A- 9A (MST)		1 1		4		4	\$350.00	\$1,400.00	Salt Lake City (KUTV)	CBS THIS MORNING	9/21/2
/28/22	1	:30 9	A- 10A (MST)		1 1	- 1	1			\$1,200.00		Salt Lake City (KUTV)	LETS MAKE A DEAL	9/21/2
												Salt Lake City (KUTV)	No Availability/Spot - Per Shannon	
/28/22	1	:30 1	1A- 12P (MST)		1 1	i	1		1	\$1,200.00	\$1,200.00	Salt Lake City (KUTV)	PRICE IS RIGHT	9/21/22
/28/2	2	2 1	2 1 :30 1		` '	` '			` '	2 1 :30 11A- 12P (MST) 1 1 1 CONFIRMATION CONTRACT				2 1 :30 11A- 12P (MST) 1 1 \$1,200.00 \$1,200.00 Salt Lake City (KUTV) PRICE IS RIGHT

CONFIRMATION CONTRACT		
Accepted-Station:	Date:	Comments:



4111

CPE

Account Types

Billing Type

Contract # 5398097 Schedule Dates 10/24/22-10/30/22 Advertiser Club For Growth (3622) Agency Armada Strategies (20481) POLITICAL ISSUE (ns) (1187) Brand 324/512/4858 (1783299) Salesperson TeleRep/DC, Washington DC (2995) Sales Office TeleRep Washington DC **Buyer Name** BLUE, SARAH Phone/Fax

324/512/4858

Weekly/Irregular
CLUB FOR GROWTH ACT

National/Political Issue Agency BRD

***** THIS IS A CASH IN ADVANCE SCHEDULE *****,

Date Entered 09/21/22 Last Modified 10/25/22 Entered By Shannon Eaker No CO-OP 10464751 External # Demo A35+R Order Type Normal Package Deal Commission % 15.00 Commission \$21,431.25

\$121,443.75

Net Total

Sales Tax

 Salt Lake City (KUTV)

 By Broadcast Month
 Spots
 Rate

 Oct. 2022
 177
 \$142,875.00

 Grand Total:
 177
 \$142,875.00

nal Line / News (61)	10/28/22-10/28/22	1											Rate	Total	Station		
al Line / SPOT (66)		1 1	:30	12P- 1P (MST)						2		2	\$400.00	\$800.00	Salt Lake City (KUTV)	2 NEWS AT NOON	9/21/22
	10/28/22-10/28/22	1	:30	1P- 1:30P (MST)						1	1	1	\$250.00	\$250.00	Salt Lake City (KUTV)	FRESH LIVING	9/21/22
al Line / SPOT (71)	10/28/22-10/28/22	1	:30	2P- 3P (MST)						1		1	\$300.00	\$300.00	Salt Lake City (KUTV)	THE TALK	9/21/22
al Line / SPOT (76)	10/28/22-10/28/22	1	:30	3P- 4P (MST)						2	-	2	\$250.00	\$500.00	Salt Lake City (KUTV)	FAMILY FEUD	9/21/22
al Line / News (81)	10/28/22-10/28/22	1	:30	4P- 4:30P (MST)						1		1	\$350.00	\$350.00	Salt Lake City (KUTV)	2 NEWS AT 4P	9/21/22
al Line / News (86)	10/28/22-10/28/22	1	:30	4:30P- 5P (MST)						1		1	\$500.00	\$500.00	Salt Lake City (KUTV)	2 NEWS AT 430P	9/21/22
al Line / News (91)	10/28/22-10/28/22	1	:30	5P- 5:30P (MST)						1	i	1	\$900.00	\$900.00	Salt Lake City (KUTV)	2 NEWS AT 5P	9/21/22
aal Line / Prime (35)	10/30/22-10/30/22	1	:30	9P- CBS-NCIS: Los Angeles (Sunday)		1					1		\$2,500.00		Salt Lake City (KUTV)	NCIS LOS ANGELES	9/21/22
d Preempt (35)	10/30/22														Salt Lake City (KUTV)	Program Change/Exception - Fire Country	
al Line / News (36)	10/30/22-10/30/22	1	:30	10P- 10:35P (MST)							1	1	\$1,500.00	\$1,500.00	Salt Lake City (KUTV)	KUTV NEWS AT 10P SUN	9/21/22
al Line / Sports/Other (37)	10/30/22-10/30/22	1	:30	10:35P- 11:35P (MST)		i			<u> </u>		1	1	\$400.00	\$400.00	Salt Lake City (KUTV)	TALKING SPORTS	9/21/22
al Line / SPOT (38)	10/30/22-10/30/22	1	:30	11:05P- Hooked on Utah									\$300.00		Salt Lake City (KUTV)	HOOKED ON UTAH	9/21/22
	•			CO	NFI	RMA	ΔТ	ION	١C	ON.	TR/	ACT	<u> </u>			'	
	tal Line / SPOT (76) tal Line / News (81) tal Line / News (86) tal Line / News (91) tal Line / Prime (35) tal Line / Prime (35) tal Line / News (36) tal Line / News (36) tal Line / Sports/Other (37) tal Line / SPOT (38)	lal Line / News (81) 10/28/22-10/28/22 10/28/22 10/28/22 10/28/22 10/28/22 10/28/22 10/28/22 10/28/22 10/28/22 10/28/22 10/28/22 10/28/22 10/28/22 10/28/22 10/30/22	10/28/22-10/28/22 1 10/28/22-10/28/22 1 10/28/22-10/28/22 1 10/28/22-10/28/22 1 10/28/22-10/28/22 1 10/28/22-10/28/22 1 10/30/22-10/30/22 1 10/30/22-10/30/22 1 10/30/22-10/30/22 1 10/30/22-10/30/22 1 10/30/22-10/30/22 1 10/30/22-10/30/22 1 10/30/22-10/30/22 1 10/30/22-10/30/22 1 10/30/22-10/30/22 1	lal Line / News (81) 10/28/22-10/28/22 1 :30 lal Line / News (86) 10/28/22-10/28/22 1 :30 lal Line / News (91) 10/28/22-10/28/22 1 :30 lal Line / Prime (35) 10/30/22-10/30/22 1 :30 ld Preempt (35) 10/30/22 lal Line / News (36) 10/30/22-10/30/22 1 :30 lal Line / Sports/Other (37) 10/30/22-10/30/22 1 :30 lal Line / SPOT (38) 10/30/22-10/30/22 1 :30	tal Line / News (81) 10/28/22-10/28/22 1 :30 4P- 4:30P (MST) tal Line / News (86) 10/28/22-10/28/22 1 :30 4:30P- 5P (MST) tal Line / News (91) 10/28/22-10/28/22 1 :30 5P- 5:30P (MST) tal Line / Prime (35) 10/30/22-10/30/22 1 :30 9P- CBS-NCIS: Los Angeles (Sunday) tal Line / News (36) 10/30/22 tal Line / News (36) 10/30/22-10/30/22 1 :30 10P- 10:3SP (MST) tal Line / Sports/Other (37) 10/30/22-10/30/22 1 :30 10:3SP- 11:3SP (MST) tal Line / SPOT (38) 10/30/22-10/30/22 1 :30 11:0SP- Hooked on Utah	tal Line / News (81) 10/28/22-10/28/22 1 :30 4P- 4:30P (MST) tal Line / News (86) 10/28/22-10/28/22 1 :30 4:30P- 5P (MST) tal Line / News (91) 10/28/22-10/28/22 1 :30 5P- 5:30P (MST) tal Line / Prime (35) 10/30/22-10/30/22 1 :30 9P- CBS-NCIS: Los Angeles (Sunday) tal Line / News (36) 10/30/22 tal Line / News (36) 10/30/22-10/30/22 1 :30 10P- 10:35P (MST) tal Line / Sports/Other (37) 10/30/22-10/30/22 1 :30 10:35P- 11:35P (MST) tal Line / SPOT (38) 10/30/22-10/30/22 1 :30 11:05P- Hooked on Utah	tal Line / News (81) 10/28/22-10/28/22 1 :30 4P- 4:30P (MST) tal Line / News (86) 10/28/22-10/28/22 1 :30 4:30P- 5P (MST) tal Line / News (91) 10/28/22-10/28/22 1 :30 5P- 5:30P (MST) tal Line / Prime (35) 10/30/22-10/30/22 1 :30 9P- CBS-NCIS: Los Angeles (Sunday) tal Line / News (36) 10/30/22 1 :30 10P- 10:35P (MST) tal Line / News (36) 10/30/22-10/30/22 1 :30 10P- 10:35P (MST) tal Line / Sports/Other (37) 10/30/22-10/30/22 1 :30 10:35P- 11:35P (MST) tal Line / SPOT (38) 10/30/22-10/30/22 1 :30 11:05P- Hooked on Utah	tal Line / News (81) 10/28/22-10/28/22 1 :30 4P- 4:30P (MST) tal Line / News (86) 10/28/22-10/28/22 1 :30 4:30P- 5P (MST) tal Line / News (91) 10/28/22-10/28/22 1 :30 5P- 5:30P (MST) tal Line / Prime (35) 10/30/22-10/30/22 1 :30 9P- CBS-NCIS: Los Angeles (Sunday) td Preempt (35) 10/30/22 tal Line / News (36) 10/30/22-10/30/22 1 :30 10P- 10:35P (MST) tal Line / Sports/Other (37) 10/30/22-10/30/22 1 :30 10:35P- 11:35P (MST) tal Line / SPOT (38) 10/30/22-10/30/22 1 :30 11:05P- Hooked on Utah	tal Line / News (81)	tal Line / News (81) 10/28/22-10/28/22 1 :30 4P- 4:30P (MST) tal Line / News (86) 10/28/22-10/28/22 1 :30 4:30P- SP (MST) tal Line / News (91) 10/28/22-10/28/22 1 :30 5P- 5:30P (MST) tal Line / Prime (35) 10/30/22-10/30/22 1 :30 9P- CBS-NCIS: Los Angeles (Sunday) tal Line / News (36) 10/30/22 1 :30 10P- 10:35P (MST) tal Line / News (36) 10/30/22-10/30/22 1 :30 10P- 10:35P (MST) tal Line / Sports/Other (37) 10/30/22-10/30/22 1 :30 10:35P- 11:35P (MST) tal Line / SPOT (38) 10/30/22-10/30/22 1 :30 11:05P- Hooked on Utah	tal Line / News (81) 10/28/22-10/28/22 1 :30 4P- 4:30P (MST) 1 tal Line / News (86) 10/28/22-10/28/22 1 :30 4:30P- 5P (MST) 1 tal Line / News (91) 10/28/22-10/28/22 1 :30 5P- 5:30P (MST) 1 tal Line / Prime (35) 10/30/22-10/30/22 1 :30 9P- CBS-NCIS: Los Angeles (Sunday) td Preempt (35) 10/30/22 1 :30 10P- 10:35P (MST) 1 tal Line / News (36) 10/30/22-10/30/22 1 :30 10P- 10:35P (MST) 1 tal Line / Sports/Other (37) 10/30/22-10/30/22 1 :30 10:35P- 11:35P (MST) 10/30/22-10/30/22 1 :30 11:05P- Hooked on Utah	tal Line / News (81)	tal Line / News (81)	tal Line / News (81) 10/28/22-10/28/22 1 :30 4P- 4:30P (MST) 1 1 1 \$350.00 tal Line / News (86) 10/28/22-10/28/22 1 :30 4:30P- 5P (MST) 1 1 1 \$500.00 tal Line / News (91) 10/28/22-10/28/22 1 :30 5P- 5:30P (MST) 1 1 1 \$900.00 tal Line / Prime (35) 10/30/22-10/30/22 1 :30 9P- CBS-NCIS: Los Angeles (Sunday) 1 \$2,500.00 tal Line / News (36) 10/30/22-10/30/22 1 :30 10P- 10:35P (MST) 1 1 1 \$1,500.00 tal Line / Sports/Other (37) 10/30/22-10/30/22 1 :30 10P- 10:35P (MST) 1 1 1 \$400.00 tal Line / SPOT (38) 10/30/22-10/30/22 1 :30 11:05P- Hooked on Utah 1 \$300.00	lal Line / News (81) 10/28/22-10/28/22 1 :30 4P- 4:30P (MST) 1 1 1 \$350.00 \$350.00 al Line / News (86) 10/28/22-10/28/22 1 :30 4:30P- SP (MST) 1 1 1 \$500.00 \$500.00 al Line / News (91) 10/28/22-10/28/22 1 :30 5P- 5:30P (MST) 1 1 1 \$900.00 \$900.00 al Line / Prime (35) 10/30/22-10/30/22 1 :30 9P- CBS-NCIS: Los Angeles (Sunday) 1 \$2,500.00 al Line / News (36) 10/30/22-10/30/22 1 :30 10P- 10:3SP (MST) 1 1 \$1,500.00 \$1,500.00 al Line / News (36) 10/30/22-10/30/22 1 :30 10P- 10:3SP (MST) 1 1 \$1,500.00 \$400.00 al Line / Sports/Other (37) 10/30/22-10/30/22 1 :30 10:3SP- 11:3SP (MST) 1 1 \$400.00 \$400.00 al Line / SPOT (38) 10/30/22-10/30/22 1 :30 11:0SP- Hooked on Utah 1 \$300.00	lal Line / News (81) 10/28/22-10/28/22 1 :30 4P- 4:30P (MST) 1 1 \$350.00 \$350.00 \$3lt Lake City (KUTV) lal Line / News (86) 10/28/22-10/28/22 1 :30 4:30P- 5P (MST) 1 1 \$500.00 \$500.00 \$alt Lake City (KUTV) lal Line / News (91) 10/28/22-10/28/22 1 :30 5P- 5:30P (MST) 1 1 \$900.00 \$900.00 \$alt Lake City (KUTV) lal Line / Prime (35) 10/30/22-10/30/22 1 :30 9P- CBS-NCIS: Los Angeles (Sunday) 1 \$2,500.00 \$alt Lake City (KUTV) lal Line / News (36) 10/30/22-10/30/22 1 :30 10P- 10:35P (MST) 1 1 \$1,500.00 \$1,500.00 \$alt Lake City (KUTV) lal Line / Sports/Other (37) 10/30/22-10/30/22 1 :30 10:35P- 11:35P (MST) 1 1 \$400.00 \$400.00 \$alt Lake City (KUTV) lal Line / SPOT (38) 10/30/22-10/30/22 1 :30 11:05P- Hooked on Utah 1 \$300.00 \$alt Lake City (KUTV) CONFIRMATION CONTRACT	lal Line / News (81) 10/28/22-10/28/22 1 :30 4P- 4:30P (MST) 1 1 1 \$350.00 \$350.00 \$31t Lake City (KUTV) 2 NEWS AT 4P lal Line / News (86) 10/28/22-10/28/22 1 :30 4:30P- 59 (MST) 1 1 1 \$500.00 \$500.00 \$31t Lake City (KUTV) 2 NEWS AT 49P lal Line / News (91) 10/28/22-10/28/22 1 :30 5P- 5:30P (MST) 1 1 1 \$900.00 \$900.00 \$31t Lake City (KUTV) 2 NEWS AT 5P lal Line / Prime (35) 10/30/22-10/30/22 1 :30 9P- CBS-MCIS: Los Angeles (Sunday)



Phone/Fax

CPE

Contract # 5398097 Schedule Dates 10/24/22-10/30/22 Advertiser Club For Growth (3622) Agency Armada Strategies (20481) Product POLITICAL ISSUE (ns) (1187) Brand 324/512/4858 (1783299) Salesperson TeleRep/DC, Washington DC (2995) Sales Office TeleRep Washington DC **Buyer Name**

BLUE, SARAH

324/512/4858 Account Types National/Political Issue Agency BRD Billing Type Weekly/Irregular

> CLUB FOR GROWTH ACT ***** THIS IS A CASH IN ADVANCE SCHEDULE *****,

Date Entered 09/21/22 Last Modified 10/25/22

Shannon Eaker

No CO-OP 10464751 External #

Demo A35+R Order Type Normal Package Deal

Commission % 15.00

Date:

Comments:

\$21,431.25 Net Total \$121,443.75

Sales Tax

Commission

Entered By

Salt Lake City (KUTV) By Broadcast Month Spots Rate Oct. 2022 177 \$142,875.00 Grand Total: 177 \$142,875.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr S	a Su	Spots	Rate	Total	Station	Comments	Entere
93.0.1	Closed Preempt (38)	10/30/22														Salt Lake City (KUTV)	Program Change/Exception - Talkin' Utes 11:07p	
94.0	Normal Line / News (94)	10/26/22-10/26/22	1	:30	6P- 6:30P (MST)				1	i		1	1	\$1,200.00	\$1,200.00	Salt Lake City (KUTV)	2 NEWS AT 6P	9/21/22
95.0	Normal Line / News (95)	10/27/22-10/27/22	1	:30	6P- 6:30P (MST)					1		1	1	\$1,200.00	\$1,200.00	Salt Lake City (KUTV)	2 NEWS AT 6P	9/21/22
96.0	Normal Line / News (96)	10/28/22-10/28/22	1	:30	6P- 6:30P (MST)				<u> </u>	i	1	<u> </u>	1	\$1,200.00	\$1,200.00	Salt Lake City (KUTV)	2 NEWS AT 6P	9/21/22
97.0	Normal Line / SPOT (97)	10/24/22-10/24/22	1	:30	6:30P- 7P (MST)		1						1	\$800.00	\$800.00	Salt Lake City (KUTV)	ENTERTAINMENT TONIGHT	9/21/22
98.0	Normal Line / SPOT (98)	10/25/22-10/25/22	1	:30	6:30P- 7P (MST)			1				i	1	\$800.00	\$800.00	Salt Lake City (KUTV)	ENTERTAINMENT TONIGHT	9/21/22
99.0	Normal Line / SPOT (99)	10/26/22-10/26/22	1	:30	6:30P- 7P (MST)				1				1	\$800.00	\$800.00	Salt Lake City (KUTV)	ENTERTAINMENT TONIGHT	9/21/22
100.0	Normal Line / SPOT (100)	10/27/22-10/27/22	1	:30	6:30P- 7P (MST)					1			1	\$800.00	\$800.00	Salt Lake City (KUTV)	ENTERTAINMENT TONIGHT	9/21/22
101.0	Normal Line / SPOT (101)	10/28/22-10/28/22	1	:30	6:30P- 7P (MST)					- 1	1	1	1	\$800.00	\$800.00	Salt Lake City (KUTV)	ENTERTAINMENT TONIGHT	9/21/22
102.0	Normal Line / Prime (102)	10/24/22-10/24/22	1	:30	7P- 8P (MST)		1						1	\$2,500.00	\$2,500.00	Salt Lake City (KUTV)	NGHBRHOOD/BOB-ABISHOL A	9/21/22
103.0	Normal Line / Prime (103)	10/24/22-10/24/22	1	:30	8P- CBS-NCIS (Monday)		1			i		i	1	\$2,500.00	\$2,500.00	Salt Lake City (KUTV)	NCIS	9/21/22
104.0	Normal Line / Prime (104)	10/24/22-10/24/22	1	:30	9P- CBS-NCIS: Hawaii (Monday)		1					-	1	\$2,500.00	\$2,500.00	Salt Lake City (KUTV)	NCIS HAWAII	9/21/22

The parties intend for the Standard Advertiser Terms and Conditions ("Terms") located at... http://sbgi.net/?p=1224 ... to be part of their agreement, and the sale of advertising is expressly subject to said Terms.

Accepted-Station:

Date:



Phone/Fax

CPE

Contract # 5398097 Schedule Dates 10/24/22-10/30/22 Advertiser Club For Growth (3622) Agency Armada Strategies (20481) Product POLITICAL ISSUE (ns) (1187) Brand 324/512/4858 (1783299) Salesperson TeleRep/DC, Washington DC (2995) Sales Office TeleRep Washington DC **Buyer Name**

BLUE, SARAH

Account Types National/Political Issue Agency BRD Billing Type Weekly/Irregular CLUB FOR GROWTH ACT

324/512/4858

***** THIS IS A CASH IN ADVANCE SCHEDULE *****,

Date Entered 09/21/22 Last Modified 10/25/22

Entered By Shannon Eaker No

CO-OP 10464751 External # Demo A35+R

Order Type Normal Package Deal

Commission % 15.00

Commission \$21,431.25 Net Total \$121,443.75

Sales Tax

Salt Lake City (KUTV) By Broadcast Month Spots Rate Oct. 2022 177 \$142,875.00 Grand Total: 177 \$142,875.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa Su	Spots	Rate	Total	Station	Comments	Entered
105.0	Normal Line / News (105)	10/24/22-10/24/22	1	:30	0 10P- 10:37P (MST)		1					į	1	\$1,500.00	\$1,500.00	Salt Lake City (KUTV)	KUTV NEWS AT 10P M-F	9/21/22
106.0	Normal Line / News (106)	10/25/22-10/25/22	1	:30	10P- 10:37P (MST)			1					1	\$1,500.00	\$1,500.00	Salt Lake City (KUTV)	KUTV NEWS AT 10P M-F	9/21/22
107.0	Normal Line / News (107)	10/26/22-10/26/22	1	:30	10P- 10:37P (MST)				1			į	1	\$1,500.00	\$1,500.00	Salt Lake City (KUTV)	KUTV NEWS AT 10P M-F	9/21/22
108.0	Normal Line / News (108)	10/27/22-10/27/22	1	:30	10P- 10:37P (MST)					1		i	1	\$1,500.00	\$1,500.00	Salt Lake City (KUTV)	KUTV NEWS AT 10P M-F	9/21/22
109.0	Normal Line / News (109)	10/28/22-10/28/22	1	:30	10P- 10:37P (MST)						1		1	\$1,500.00	\$1,500.00	Salt Lake City (KUTV)	KUTV NEWS AT 10P M-F	9/21/22
110.0	Normal Line / SPOT (110)	10/24/22-10/24/22	1	:30	10:37P- 11:39P (MST)		2					1	2	\$600.00	\$1,200.00	Salt Lake City (KUTV)	LATE SHOW-COLBRT	9/21/22
111.0	Normal Line / SPOT (111)	10/25/22-10/25/22	1	:30	10:37P- 11:39P (MST)			2				i	2	\$600.00	\$1,200.00	Salt Lake City (KUTV)	LATE SHOW-COLBRT	9/21/22
112.0	Normal Line / SPOT (112)	10/26/22-10/26/22	1	:30	10:37P- 11:39P (MST)		- 1		2			1	2	\$600.00	\$1,200.00	Salt Lake City (KUTV)	LATE SHOW-COLBRT	9/21/22
113.0	Normal Line / SPOT (113)	10/27/22-10/27/22	1	:30	10:37P- 11:39P (MST)					2		i	2	\$600.00	\$1,200.00	Salt Lake City (KUTV)	LATE SHOW-COLBRT	9/21/22
114.0	Normal Line / SPOT (114)	10/28/22-10/28/22	1	:30	10:37P- 11:39P (MST)						2	i	2	\$600.00	\$1,200.00	Salt Lake City (KUTV)	LATE SHOW-COLBRT	9/21/22
115.0	Normal Line / SPOT (115)	10/24/22-10/24/22	1	:30	11:39P- 12:39A (MST)		2					i	2	\$200.00	\$400.00	Salt Lake City (KUTV)	LATE LATE SHOW	9/21/22
116.0	Normal Line / SPOT (116)	10/25/22-10/25/22	1	:30	11:39P- 12:39A (MST)			2				i	2	\$200.00	\$400.00	Salt Lake City (KUTV)	LATE LATE SHOW	9/21/22
117.0	Normal Line / SPOT (117)	10/26/22-10/26/22	1	:30	11:39P- 12:39A (MST)				2			i	2	\$200.00	\$400.00	Salt Lake City (KUTV)	LATE LATE SHOW	9/21/22
118.0	Normal Line / SPOT (118)	10/27/22-10/27/22	1	:30	11:39P- 12:39A (MST)					2		i	2	\$200.00	\$400.00	Salt Lake City (KUTV)	LATE LATE SHOW	9/21/22

CONFIRMATION CONTRACT

Accepted-Agency/Advertiser: Date: Accepted-Station: Date: Comments:



Contract #
Schedule Dates
Advertiser
Agency
Product

Salesperson

Account Types

5398097 10/24/22-10/30/22 Club For Growth (3622) Armada Strategies (20481) POLITICAL ISSUE (ns) (1187)

324/512/4858 (1783299) TeleRep/DC, Washington DC (2995)

Sales Office TeleRep Washington DC **Buyer Name** BLUE, SARAH Phone/Fax

CPE 324/512/4858

Billing Type Weekly/Irregular CLUB FOR GROWTH ACT

***** THIS IS A CASH IN ADVANCE SCHEDULE *****,

National/Political Issue Agency BRD

Date Entered 09/21/22 Last Modified 10/25/22

Shannon Eaker

No CO-OP 10464751 External # Demo A35+R

Order Type Normal Package Deal

Commission % 15.00

Date:

Comments:

Commission \$21,431.25 Net Total \$121,443.75

Sales Tax

Entered By

Salt Lake City (KUTV) By Broadcast Month Spots Rate Oct. 2022 177 \$142,875.00 Grand Total: 177 \$142,875.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr Sa	Su	Spots	Rate	Total	Station	Comments	Entered
119.0	Normal Line / SPOT (119)	10/28/22-10/28/22	1	:30	11:39P- 12:39A (MST)						2		2	\$200.00	\$400.00	Salt Lake City (KUTV)	LATE LATE SHOW	9/21/22
120.0	Normal Line / Prime (120)	10/25/22-10/25/22	1	:30	6:57:26P- CBS-FBI (Tuesday)			1				1	1	\$2,500.00	\$2,500.00	Salt Lake City (KUTV)	FBI	9/21/22
121.0	Normal Line / Prime (121)	10/25/22-10/25/22	1	1	7:59:30P- CBS-FBI: International (Tuesday)							1	1	\$2,500.00	\$2,500.00	Salt Lake City (KUTV)	FBI INTERNATIONAL	9/21/22
122.0	Normal Line / Prime (122)	10/25/22-10/25/22	1	:30	9P- CBS-FBI: Most Wanted (Tuesday)			1				1	1	\$2,500.00	\$2,500.00	Salt Lake City (KUTV)	FBI MOST WANTED	9/21/22
123.0	Normal Line / Prime (123)	10/26/22-10/26/22	1	:30	8P- CBS-The Real Love Boat (Wednesday)				1			1	1	\$2,500.00	\$2,500.00	Salt Lake City (KUTV)	THE REAL LOVE BOAT	9/21/22
124.0	Normal Line / Prime (124)	10/27/22-10/27/22	1	:30	7P- 8P (MST)		i		1 1	1		1	1	\$4,000.00	\$4,000.00	Salt Lake City (KUTV)	YNG SHELDON/GHOSTS	9/21/22
125.0	Normal Line / Prime (125)	10/27/22-10/27/22	1	:30	7:59:30P- CBS-So Help Me Todd (Thursday)					1		1	1	\$3,500.00	\$3,500.00	Salt Lake City (KUTV)	SO HELP ME TODD	9/21/22
126.0	M/G For 68.0.1 / Prime (M2)	10/29/22-10/29/22	1	:30	8:30P- CBS-Young Sheldon (Saturday)					1	1	1	1	\$1,000.00	\$1,000.00	Salt Lake City (KUTV)	YOUNG SHELDON	9/21/22
127.0	M/G For 66.0.1,67.0.1 / Soccer (M2)	10/29/22-10/29/22	1	1	0 6P- Sports-CBS NWSL Championship						2	1	2	\$600.00	\$1,200.00	Salt Lake City (KUTV)	NWSL	9/21/22
128.0	M/G For 73.0.1,73.0.2 / SPOT (M3)	10/30/22-10/30/22	1	:30	3P- Sports-CBS PBR Special						i	2	1	\$250.00	\$250.00	Salt Lake City (KUTV)	PBR: BULL RIDING 3Q/4Q	9/21/22

The parties intend for the Standard Advertiser Terms and Conditions ("Terms") located at... http://sbgi.net/?p=1224 ... to be part of their agreement, and the sale of advertising is expressly subject to said Terms.

Accepted-Station:

Date:



Contract #
Schedule Dates
Advertiser
Agency
Product
Brand

5398097 10/24/22-10/30/22

Club For Growth (3622) Armada Strategies (20481)

POLITICAL ISSUE (ns) (1187) 324/512/4858 (1783299)

Salesperson TeleRep/DC, Washington DC (2995)

Sales Office TeleRep Washington DC **Buyer Name** BLUE, SARAH Phone/Fax

CPE 324/512/4858

Account Types National/Political Issue Agency BRD

Billing Type Weekly/Irregular CLUB FOR GROWTH ACT

***** THIS IS A CASH IN ADVANCE SCHEDULE *****,

Date Entered 09/21/22 Last Modified 10/25/22

Entered By Shannon Eaker No

CO-OP 10464751 External # Demo A35+R

Order Type Normal Package Deal

Commission % 15.00

Commission \$21,431.25 Net Total \$121,443.75

Date:

Comments:

Sales Tax

Salt Lake City (KUTV) By Broadcast Month Spots Rate Oct. 2022 177 \$142,875.00 Grand Total: 177 \$142,875.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr Sa	Su	Spots	Rate	Total	Station	Comments	Entered
128.0.1	Closed Preempt (M3)	10/30/22						1								Salt Lake City (KUTV)	Program Change/Spot - Only one break & already a spot in that break	
129.0	M/G For 93.0.1 / Sports/Other (M4)	10/29/22-10/29/22	1	:30	11:07P- Hooked on Utah						1			1 \$300.00	\$300.00	Salt Lake City (KUTV)	HOOKED ON UTAH	9/21/22
130.0	M/G For 77.0.1 / Prime (M7)	10/30/22-10/30/22	1	:30	6:59:30P- CBS-East New York (Sunday)			1	1			1		1 \$2,500.00	\$2,500.00	Salt Lake City (KUTV)	EAST NY	10/14/22
131.0	M/G For 78.0.1 / Prime (M7)	10/30/22-10/30/22	1	:30	8P- CBS-NCIS: Los Angeles (Sunday)			1	1			1		1 \$2,500.00	\$2,500.00	Salt Lake City (KUTV)	NCIS LA	10/14/22
132.0	M/G For 90.0.1 / Prime (M7)	10/30/22-10/30/22	1	:30	9P- CBS-Fire Country (Sunday)			1				1		1 \$2,500.00	\$2,500.00	Salt Lake City (KUTV)	FIRE COUNTRY	10/14/22
133.0	M/G For 74.0.1,74.0.2 / Football (M8)	10/30/22-10/30/22	1	:30	10:57:26A- Sports-CBS NFL Early Game			1		1 1		2		2 \$6,000.00	\$12,000.00	Salt Lake City (KUTV)	NFL EARLY ROTATION	10/20/22
134.0	M/G For 20.0.1,34.0.1 / SPOT (M9)	10/24/22-10/28/22	1	:30	10A- 11A (MST)	4	X	х	x	х	x			4 \$1,200.00	\$4,800.00	Salt Lake City (KUTV)	YOUNG AND THE RESTLESS	10/20/22
135.0	M/G For 128.0.1 / SPOT (M3)	10/30/22-10/30/22	1	:30	3P- Sports-CBS PBR Special			1				1		\$250.00		Salt Lake City (KUTV)	PBR: BULL RIDING 3Q/4Q	10/24/22
135.0.1	Closed Preempt (M3)	10/30/22							1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1							Salt Lake City (KUTV)	Advertiser Separation/Exception - Already a spot in every break	
	<u> </u>	ı			CON	VFI	RN	1AT	TIO	N C	ON	TR	AC1	-		<u> </u>	1	II

The parties intend for the Standard Advertiser Terms and Conditions ("Terms") located at... http://sbgi.net/?p=1224 ... to be part of their agreement, and the sale of advertising is expressly subject to said Terms.

Accepted-Station:

Date:



Contract # Schedule Dates Advertiser Agency Brand

Salesperson

Sales Office

5398097 10/24/22-10/30/22

Buyer Name Phone/Fax

CPE Account Types

Billing Type

Club For Growth (3622) Armada Strategies (20481) POLITICAL ISSUE (ns) (1187) 324/512/4858 (1783299) TeleRep/DC, Washington DC (2995) TeleRep Washington DC BLUE, SARAH 324/512/4858

National/Political Issue Agency BRD Weekly/Irregular

CLUB FOR GROWTH ACT ***** THIS IS A CASH IN ADVANCE SCHEDULE *****,

Date Entered 09/21/22 Last Modified 10/25/22

Entered By Shannon Eaker No

10464751 External # Demo A35+R

Order Type Normal Package Deal

Commission % 15.00

\$21,431.25 Net Total \$121,443.75

Sales Tax

Commission

CO-OP

Salt Lake City (KUTV) By Broadcast Month Spots Rate Oct. 2022 177 \$142,875.00 Grand Total: 177 \$142,875.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	e Th	Fr	Sa Su	Spots	Rate	Total	Station	Comments	Entered
136.0	M/G For 63.0.1 / Prime (M10)	10/25/22-10/25/22	1	:30	6:57:26P- CBS-FBI (Tuesday)					1		1	1	\$2,200.00	\$2,200.00	Salt Lake City (KUTV)	FBI	10/24/22
137.0	M/G For 4.0.1 / News (M10)	10/25/22-10/27/22	1	:30	4:30A- 4:59A (MST)	1		х	x	x			1	\$125.00	\$125.00	Salt Lake City (KUTV)	2 NEWS AT 430A	10/24/22
138.0	M/G For 135.0.1 / SPOT (M3)	10/30/22-10/30/22	1	:30	3P- Sports-CBS PBR Special					1		1	1	\$250.00	\$250.00	Salt Lake City (KUTV)	PBR: BULL RIDING 3Q/4Q	10/24/22
	M/G For 38.0.1,51.0.1 / Football (M13)	10/29/22-10/29/22	1		1P- Sports-CBS College Football Today					1		1	1	\$600.00	\$600.00	Salt Lake City (KUTV)	COLLEGE FOOTBALL TODAY	10/25/22
					COL	VFI	RM	IAT	10	N (CO	NTR	ACT					
Accepted-Agency/Advertiser: Date: Accepted-Station: Date: Comments:																		